9 2015-2016% Torar -Tai= =™ okt SITd=

(RS TR T4 H)
FHG YA o WY A Seed 3 foraor afraret et RIn
Rl E o L
U G —12 Sl f[GHRT 9 Hetid o=
RS ) Uit =@
ATET 1,00,55,00 0 1,00,55,00
ATEHER 3,27,50 0 3,27,50
2045 awgal 3T Ramsll W 3T Y 3 o<k
RIS RGR
1 [XX] {108} (4281) #01 ddd wIw, oWf% 0 2,30,00 2,30,00
2 [XX] {103} (428) #02 weEh 0 10,00 10,00
3 [XX] {103} (4281) #03 UM W« 0 2,00 2,00
4 [XX] {1038} (4281) #04 wHECE =T 0 55,00 55,00
5 [XX] {103} (4281) #24 oTRHW wHME 0 3,00 3,00
6  [XX] {103} (4281) #34 AR T FA 0 27,50 27,50
QT 0 3,27,50 3,27,50
=T (a9 ) - 2045 0 3,27,50 3,27,50
2801 femra
SIS
7 [06] {101} (7652) #14 WS STRH 30,00,00 30,00,00
8 [80] {101} (7655  #14 We™H SIH 30,00,00 30,00,00
QT 0 60,00,00 60,00,00
QT (o vy ) - 2801 0 60,00,00 60,00,00
2810 ==t & R-urwies ||
SIS
9 [02] {101} (7652) #14 WEEH FRH 0 590,00 5,90,00
10 [02] {101} (7693) #14 TEFH STRH 0 14,90,00 14,90,00
11 [02] {101} (76%4) #14 HWEEF STRH 0 10,0000 10,00,00
12 [02] {101} (7695) #14 TEHE STRH 0 5,00,00 5,00,00
13 [60] {600} (7696) #14 HEEH STRM 0 75,00 75,00
14 [60] {600} (7697) #14 WeHFH M 0 2,00,00 2,00,00
15 [60] {600} (7698) #14 TEEEH FTH 0 2,00,00 2,00,00
B 0 40,55,00 40,55,00
QT (A vie ) - 2810 0 40,55,00 40,55,00
q( wmEEn ) - 12 0 1,03,82,50 1,03,82,50
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9 2015-2016% Torar -Tai= =™ okt SITd=

(RS TR T4 H)
FHG YA o WY A Seed 3 foraor afraret et RIn
Rl EeiCo
I §&T -41 Mg SISt SRS
TS Uit =@
ST 74,89,80 0 74,89,80
SIS 0 0 0
2801 femra
ST
[06] {101} (7652 #14 ek TR 22,80,00 22,80,00
(80] {101} (7655) #14 WeEH STRM 22,80,00 22,80,00
T 0 45,60,00 45,60,00
T (o vitd ) - 2801 0 45,60,00 45,60,00
2810 it o IR-urmies &
ST
3 [0 {101} (7652) #14 WEEF ITRM 0 44840 44840
4 [0 {101} (7693) #14 WEFEH STRE 0 11,32,40 11,32,40
5 [02] {101} (76%4) #14 TEFFH ITR|H 0 7,60,00 7,60,00
6 [02] {101} (7695 #14 WEMEH STRM 0 3,80,00 3,80,00
7 [60] {60G} (769%6)  #14 HWeEH T 0 57,00 57,00
8 [60] {600} (7697) #14 WeEH IIH 0 1,52,00 1,52,00
T 0 29,29,80 29,29,80
IqrT (rEr vy ) - 2810 0 29,29,80 29,29,80
A ( wimEE ) - 41 0 74,89,80 74,89,80
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9 2015-2016% Torar -Tai= =™ okt SITd=

(RS TR T4 H)
FHG YA o WY A Seed 3 foraor afraret et RIn
Rl EeiCo
U G -64  3Fged Sfd Su=irstT
TS Uit o
ST 23,65,20 0 23,65,20
SR 0 0 0
2801 femra
AT
[06] {101} (7652 #14 ek TR 7,20,00 7,20,00
[80] {101} (7655)  #14 WeE AN 0 7,20,00 7,20,00
T 0 14,40,00 14,40,00
=T (orEn vy ) - 2801 0 14,40,00 14,40,00
2810 it o IR-urmies &
ST
3 [0 {101} (7652) #14 WEEF ITRM 0 141,60 141,60
4 [0 {101} (7693) #14 WEFEH STRE 0 357,60 357,60
5 [02] {101} (76%4) #14 TEFFH ITR|H 0 2,40,00 2,40,00
6 [0 {101} (7695) #14 WEEF ITRM 0 1,20,00 1,20,00
7 [60] {60G} (769%6)  #14 HWeEH T 0 18,00 18,00
8 [60] {600} (7697) #14 TR IRH 0 48,00 48,00
T 0 9,25,20 9,25,20
T (orEr vitd ) - 2810 0 9,25,20 9,25,20
A ( Wi ) - 64 0 23,65,20 23,65,20
TS I - 0 2,02,37,50 2,02,37,50

13-3



